= A
N = 0] &F AF S & AN A
20148 = 20l AH LEHS H B2AHE
SH: BAEMY
MY COAYEN
Sl BREARIYRE CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SAHIH 50,682,404 61,290,662 A 10,608,258
= 11,261,004
J| 19,807,245
= 4,182,708
&< 15,431,447
COAAXSA 50,400,882 61,060, 162 A 10,659,280
= 11,261,004
J| 19,784,245
= 4,182,708
= 15,172,925
222292 )82 =% 15,841,723 30,198,093 N 14,356,370
= 9,510,721
J| 325,700
= 6,005,302
sHE BAHOYSHEIA HEAY 6,518,537 9,523,593 A 3,005,056
= 5,214,828
= 1,303,709
403 XX SHHS K20 & 6,518,537 9,523,593 N 3,005,056
= 5,214,828
= 1,303,709
01 XS A2E X 6,518,537 9,523,593 A 3,005,056
OsHEBAHOZ AHIAMNLE ALY 6,518,537
= 5,214,828
& 1,303,709
SHE BAHAZMEIA A ALY (REAAFS) 30,000 0 30,000
403 XX SHHS K20 & 30,000 0 30,000
01 XIS A=Z2E X 30,000 0 30,000
OoBAHEZA == 30,000
AN zds Jsds 3,340,000 15,267,000 A 11,927,000
= 1,670,000
= 1,670,000
402 12t XHE0| & 3,340,000 15,267,000 A 11,927,000
= 1,670,000
= 1,670,000
01 QI2tXE8 X 3,340,000 15,267,000 AN 11,927,000
OFFo & Ald L HHEZ 2,730,000
= 1,365,000
o=t 1,365,000
OEFo 24 HHEZL 610,000
= 305,000
= 305,000
EFo=2 AELdUH2 5,251,786 5,260,000 N8,214
= 2,625,893
= 2,625,893
201 et Y| 5,251,786 5,260,000 N8,214




SH: BAEMY
Mo COALE
Sl BREARIYRE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 2,625,893
< 2,625,893
01 At 22l 5,251,786 5,260,000 AB,214
Oz A&z 5,251,786
= 2,625,893
= 2,625,893
NLezd s 23 NEAEY 651,400 0 651,400
J| 325,700
< 325,700
402 RI2EX20| ™ 651,400 0 651,400
J| 325,700
= 325,700
01 RIZEXt =282 X 651,400 0 651,400
OXgozd F23 XNFAY 651,400
J| 325,700
< 325,700
SE=ESL NG9E2Hg=zHE =8 50,000 0 50,000
207 O] 50,000 0 50,000
01 289 50,000 0 50,000
OSE=E NGE2A2= =8 H2EH 50,000
HAME MM MES 14,037,966 14,672,279 A 634,313
= 1,172,780
J| 10,111,798
< 2,753,388
KA SSHLSTAY 6,133,831 5,794,821 339,010
J| 5,055,859
< 1,077,972
201 et 10,000 6,000 4,000
J| 5,000
< 5,000
01 At 22l 10,000 6,000 4,000
Ogt=&H| 10,000
Jl| 5,000
< 5,000
202 Odl 6,000 6,000 0
J| 3,000
< 3,000
01 = LH 4 Hi 6,000 6,000 0
OSEUHLETAY Z=E NI 6,000
J| 3,000
< 3,000
303 Z& 3 2,000 0 2,000
J| 1,000
< 1,000
01 243 2,000 0 2,000




M BAFH Y
Mo COALE
Ee AUME A M) (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OsgdZdsdAY =0 4= 2,000
J| 1,000
< 1,000
307 21201 A 92,000 72,000 20,000
Il 46,000
< 46,000
02 QIZHEAMNEXS 92,000 72,000 20,000
OHLESTALNNAH 2 92,000
J| 46,000
< 46,000
308 XAXIEHSOIA 6,023,831 5,685,821 338,010
J| 5,000,859
< 1,022,972
01 IXNHHBNEES 6,023,831 5,685,821 338,010
O=ZEele S=0S) DXNES A 57,000
J| 28,500
< 28,500
OANZ SEAZSE ALHHI 5,966,831
J| 4,972,359
< 994,472
Ol=so0t & AFH 0l&0F 2=H X& 412,100 410,540 1,560
J| 317,000
< 95,100
308 XAHXIEHH SOl A 412,100 410,540 1,560
J| 317,000
< 95,100
01 HIXNHHNBMNEES 412,100 410,540 1,560
O0l=0F & d&H 0l&ot 9 =Hl X& 412,100
J| 317,000
= 95,100
HEA CHALOI & Z AL & & ot2tel 288,000 243,690 44,310
J| 192,000
< 96,000
308 XXIEHHSOIA 288,000 243,690 44,310
J| 192,000
< 96,000
01 X HHBIYEES 288,000 243,690 44,310
O EUAIOI &t Z AL & 2t ot2te] 288,000
J| 192,000
< 96,000
AlMOF B2t B A A 81,000 24,945 56,055
J| 54,000
< 27,000
308 MXIEHSOIH 81,000 24,945 56,055
J| 54,000
< 27,000




SN BAR Y
Mo COALE
S AZME AN MEF (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 IXHHNIMNEXS 81,000 24,945 56,055
OAlMOF H2UAHEZ AL 81,000
J| 54,000
= 27,000
HARL2X A 1,375,832 1,225,996 149,836
Dl 1,058,332
o= 317,500
308 XX SHHSOIH 1,375,832 1,225,996 149,836
Dl 1,058,332
o= 317,500
01 AXHNBMNEXZ 1,375,832 1,225,996 149,836
OLHALREX A A 1,375,832
Dl 1,058,332
& 317,500
HAEME QA S& Qg XA 39,600 39,600 0
Dl 26,400
< 13,200
308 AXISHXMSOoIHA 39,600 39,600 0
Dl 26,400
< 13,200
01 HXHNBMNEXTZ 39,600 39,600 0
OFAEAMD AN S o2 H K& 39,600
J| 26,400
o= 13,200
HE QUEAH =& M 9,349 9,420 AT
Dl 6,233
& 3,116
308 XiXI EHX SO & 9,349 9,420 AT
Dl 6,233
& 3,116
01 AIXHMBAEXZ 9,349 9,420 AT
OEZ 24 EHE HMH 9,349
Dl 6,233
= 3,116
MBAMOIELR20] W= 7,500 9,600 A2,100
= 7,500
307 212t0| & 7,500 9,600 A2,100
= 7,500
05 QIZtR &2 7,500 9,600 A2,100
OMNBAMOI =20 B 7,500
= 7,500
MDAIMOF S0 XS 983,740 1,068,910 A85,170
= 983,740
308 Xt XI EHXI S0 & 983,740 1,068,910 ~85,170
= 983,740




SN BAR Y
Mo COALE
S AZME AN MEF (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 IXHHNIMNEXS 983,740 1,068,910 A 85,170
OMZAIMOF =201 X& 983,740
= 983,740
O Jl= At 48,000 80,000 A 32,000
307 212t0| & 48,000 80,000 A 32,000
02 DI2tFAE X Z 48,000 80,000 A 32,000
OOt AtRo 2HEHl X3 48,000
=} &ra2t2| AtY 1,808,044 2,537,226 NT29,182
Dl 1,335,997
= 472,047
307 QI2t0| & 160,000 158,332 1,668
Jl 80,000
< 80,000
02 It A X2 160,000 158,332 1,668
OXNHALHEH 22t Al 160,000
Dl 80,000
& 80,000
308 AKX SHHSOIA 1,648,044 2,378,894 A 730,850
Dl 1,255,997
& 392,047
01 X SHIAREZ 1,648,044 2,378,894 A730,850
OgxI| HA 543,400
Dl 418,000
= 125,400
Odsx 92| A 990,284
Dl 761,757
& 228,527
OA&tIt XA 114,360
Dl 76,240
= 38,120
B2 £ZAN ATAY 192,821 233,493 £40,672
2 181,540
o= 11,281
307 212t0| & 31,120 30,290 830
= 31,120
05 QIZtR &2 31,120 30,290 830
Oz 22X g2 /A 31,120
= 31,120
308 AXISHMSOIH 161,701 203,203 AN41,502
= 150,420
= 11,281
01 HXHHNBIMNEXZ 161,701 203,203 AN41,502
OANZ 2220323 X Z2& ALY 161,701
= 150,420
o= 11,281




SH: BAEMY
Mo COALE
ol AYME AF MHF CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
R0t AZH A 74,713 68,327 6,386
J| 69,500
< 5,213
308 XAHXIEHH SOl 74,713 68,327 6,386
J| 69,500
< 5,213
01 IXNHHBNEES 74,713 68,327 6,386
Ogxsot AZH A 74,713
J| 69,500
= 5,213
MM ED A2H 2 34,976 34,315 661
J| 34,976
308 XX EHHSOIA 34,976 34,315 661
J| 34,976
01 X HHILEES 34,976 34,315 661
OMofd el A2H & 34,976
J| 34,976
OXl EF ALY 633,391 641,773 A 8,382
J| 487,224
< 146,167
308 MtXIEHSOIH 633,391 641,773 A 8,382
J| 487,224
< 146,167
01 HXNHHNBHELS 633,391 641,773 A 8,382
Ooxl SEHAMZ 633,391
J| 487,224
< 146,167
T g2 E gAY 200,000 280,000 A 80,000
J| 100,000
< 100,000
202 o4dl 1,000 2,000 A1,000
J| 500
= 500
01 = LH o4 1l 1,000 2,000 A 1,000
Ogzgazea o2y =a 1,000
J| 500
< 500
303 &3 1,400 0 1,400
J| 700
< 700
01 L& = 1,400 0 1,400
OdLg2TE oleg2el I3 2o 1,400
J| 700
< 700
307 glz2tol & 197,600 278,000 80,400




SH BATHY
Mo COALE
Ee AUME A M) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| 98,800
< 98,800
02 QIAHFAEXS 197,600 278,000 A 80,400
Odgaza 2B NIH2 I 197,600
| 98,800
S 98,800
AL EaEE oflg2el M2 (FMTP) 17,550 19,500 A 1,950
J| 17,550
308 XXX SO0 17,550 19,500 21,950
J| 17,550
01 AXSHBLELS 17,550 19,500 21,950
OFNTP 2ol = 17,550
| 17,550
23 =3I ZAH A& 14,400 0 14,400
308 XXM SO0 A 14,400 0 14,400
01 AXNSHHBLEES 14,400 0 14,400
OZsY =3It ZAtH K& 14,400
AT NDALE A2 E At 307,919 307,867 52
| 307,919
308 XXIEtM S0l A 307,919 307,867 52
| 307,919
01 IXNHHBANEES 307,919 307,867 52
OAlZ XIYAt2] A2 A 307,919
| 307,919
KSBASI AL ZAL SH M L2t 8,000 8,000 0
307 21201 A 8,000 8,000 0
05 BIZHRIE 3 8,000 8,000 0
OXSAS HZEA SHX L2t 8,000
AU L EES A S =HXIE 1,363,450 1,634,256 A 270,806
| 1,048,808
< 314,642
308 XXM S0 A 1,363,450 1,634,256 A 270,806
| 1,048,808
< 314,642
01 AXSHHBLAEES 1,363,450 1,634,256 A 270,806
O AHUXNLHER 2AZHIKA 1,363,450
| 1,048,808
< 314,642
e X K& 3,750 0 3,750
308 XXM S0l A 3,750 0 3,750
01 IXNSHHBANEES 3,750 0 3,750
O H & X X 3,750
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M BAFH Y
Mo COALE
o9l A2 HHIA B4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
X ¥ SSHLSE 38,000 20,000 18,000
J| 19,000
< 19,000
307 glz2tol & 38,000 20,000 18,000
J| 19,000
< 19,000
02 QItFAE XS 38,000 20,000 18,000
Oz & SS8XdIU=F 38,000
J| 19,000
= 19,000
SSAS2ZBHH2IHIXR 142,000 161,060 A 19,060
J| 71,000
< 71,000
307 2I2+0 & 142,000 161,060 A 19,060
J| 71,000
< 71,000
02 P AEXRS 142,000 161,060 A 19,060
OS=sdzsd824dH 22Hl X 142,000
J| 71,000
< 71,000
KAt DMAT2 E 19,500 19,500 0
J| 13,650
< 5,850
201 Yete | 6,500 6,500 0
J| 4,550
< 1,950
01 At 22l 6,500 6,500 0
OXI = CSH2I0MAT DS 6,500
J| 4,550
< 1,950
308 XXM SO A 13,000 13,000 0
J| 9,100
< 3,900
01 AXHHIYEES 13,000 13,000 0
OX S CH2DMAT 2E X & 13,000
J| 9,100
< 3,900
SZOABIIBTRSAI 2B TS 123,210 76,044 47,166
J| 86,247
< 36,963
402 RI2HXt20l 123,210 76,044 47,166
J| 86,247
= 36,963
01 22t 2E X 123,210 76,044 47,166
o2& s RHEE8S4Y 7= 123,210




2N
X ZH -
L= B

el

il

=
=]

HL N HT
ey
1oy ox
U oy g

x 0 &

At

0

SN EB S (3H) - NEAY - BES ofl &k o San HDE2

Pl 86,247
& 36,963

FEXN S22 S2IAE 2,032,000 750,000 1,282,000
Dl 2,032,000

307 QI2t0| ™ 2,032,000 750,000 1,282,000
Dl 2,032,000

02 AAFAMNBEXZ 2,032,000 750,000 1,282,000
OFX 83272 2HXA 762,000
J| 762,000
OsHEXNSE s/ 2N 1,270,000
Jl 1,270,000

NESHAsI X XN 85,500 0 85,500
Dl 57,000
= 28,500

403 XXM S K201 A 85,500 0 85,500
J| 57,000
= 28,500

01 HXHNMAHEBEE = 85,500 0 85,500
OXNsSHASI XX 85,500
J| 57,000
== 28,500

S20ISHA N 10,400 0 10,400
Dl 5,200
& 5,200

201 LBt Y| 10,400 0 10,400
Dl 5,200
& 5,200

01 At 22l ] 10,400 0 10,400
OoIZtolsy 22X 01D &XAFS 10,400
Dl 5,200
= 5,200

HASE 2HAHUIA NAAY 146,765 67,500 79,265

307 212t0| & 146,765 67,500 79,265

02 DI2tFAEXTZ 146,765 67,500 79,265
OMASEE Y AMHIA XSALE 146,765

SOF AR KNS ALY 400,000 400,000 0
= 250,000
= 150,000

308 AXISHXSO0IH 400,000 400,000 0
= 250,000
= 150,000

01 HXHNBMNEXTZ 400,000 400,000 0
OS2F2AX XE AL 400,000
= 250,000
== 150,000
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2N

(=]

- =
Hu: COALEA

=]

£

Sl BAOADMHIA A EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

|| 02870 daNadE(iE) 100,000

FUEAMA A B E 8,361,221 7,566,340 794,881
= 143,400
J| 1,741,950
= 4,182,708
< 2,293,163

ZAZUALSIHE 2 768,800 0 768,800
J| 384,400
< 384,400

307 21201 A 768,800 0 768,800
J| 384,400
< 384,400

05 RIZt2IEt = 768,800 0 768,800
OBABUALSAME 29 768,800
J| 384,400
= 384,400

FAALSAHH 29 1,232,000 891,900 340,100
J| 880,000
< 352,000

308 AHAIEHHSOIA 1,232,000 891,900 340,100
J| 880,000
< 352,000

01 HIXNHHNBHNEELS 1,232,000 891,900 340,100
OFUAZSTHE 2 1,232,000
J| 880,000
< 352,000

QIS MEUHH2Y 87,815 87,815 0
| 67,550
< 20,265

308 XXM SOl A 87,815 87,815 0
J| 67,550
= 20,265

01 IXNHHBNEES 87,815 87,815 0
Ossael SENIAHH 29 87,815
J| 67,550
< 20,265

OlSEAEHAUBAAY 400,000 100,000 300,000
J| 200,000
< 200,000

308 XX EHH SOl A 400,000 100,000 300,000
J| 200,000
< 200,000

01 HXNHHBHELS 400,000 100,000 300,000
O0tsdAdE HABHAMS 400,000
J| 200,000
= 200,000




2N
X ZH -
L= B
el

™
)
E
J@

=
=)

(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Aaoe & HAALSIAEY 273,000 0 273,000

J| 210,000
< 63,000
308 XAHXIEHH SOl 273,000 0 273,000
J| 210,000
< 63,000
01 XXI EHI 2 X3 273,000 0 273,000
OXtaog & FaAd STAY 273,000
J| 210,000
= 63,000
FAUEEAS=EHANEISEZ 143,400 129,256 14,144
= 143,400
403 XIS E X201 & 143,400 129,256 14,144
= 143,400
01 XXM 22 = 143,400 129,256 14,144
OFuEE ASISHAE JIs2S 143,400
= 143,400
HAURAANLE2S 5,254,635 5,254,635 0
=2 4,182,708
< 1,071,927
308 MtXIEHSOIH 5,254,635 5,254,635 0
= 4,182,708
< 1,071,927
01 HXNHHNBHELS 5,254,635 5,254,635 0
OZURAANLE 29 5,254,635
= 4,182,708
< 1,071,927
FAUHSAIS SEHNAER2Z(01) 195,571 143,048 52,523
308 XX EHH SOl 195,571 143,048 52,523
01 HIXNHHBNEES 195,571 143,048 52,523
OFAMZEE MI=HAE 2L(01) 195,571
AMSIEXAIE IOt A=E 6,000 0 6,000
201 et 6,000 0 6,000
01 At 22l 6,000 0 6,000
OMEISXIAIE BII A= 6,000
Zggougesyst 6,626,447 5,692,516 933,931
= 163,103
J| 4,305,610
< 2,157,734
AStTAE 29 1,000 1,000 0
301 et a3z 1,000 1,000 0
MIEE43 1,000 1,000 0
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